LAMPIRAN 1.  Instrumen Tes Membaca Teks Bahasa Inggris


TAHUN PELAJARAN 2016/2017
Mata Pelajaran  		: 	Bahasa Inggris
Tingkat/Jurusan         	: 	X/SMA

Instruction: Choose the correct answer a, b, c, d, or e!
Read the text 1 carefully !
 	Mr. Pomat, a Malupit shop owner, called a meeting to find out the views of the community on local government plants to close the Malupit Community School at the end of the present school year.
 	Mr. Pomat acted as chairman of the meeting. He introduced Mr. K.Kazarin, the planning Officer of the Raval Education Department. Mr. Kazarin pointed out that there were now only fifty-three children at Malupit Community School. This was considered too high a number for one class under one teacher; and too low a number for the forming of two classes and the employment of two teacher. Mrs. Luvako, who had taught at the school for the past twenty-two years, would be retiring from the teaching service in July. The Planning Office wished to take this opportunity to close the school, because it is expensive to run, and to move the children to two bigger schools in Raval, six miles away.
 	Mrs. Jarvis, the mother of an eight-year-old boy at Malupi, asked what would happen about transport to Raval. Mr.Kazarin replied that the children would travel by bus. This would be provided by the Raval Transport Department, and it would take Malupit children to and from school free of charge
 	Another parent, Mr.H.Wiley, expressed the fear of many parent that closing the local school would mean that the children of Malupit would not grow up with the same sense of community as in the past. They would feel lost in the much larger schools in Raval. Mr. Kazarin replied that the Raval school were not very large, and that in any case, the children would have to go to Raval later for education at high-school level.
 	The chairman voiced the view of the meeting when he said that there was good reason to believe that there would soon be more young children living in Malupit.
 	It would be foolish, he said, to close the school, and then to find that there were more than enough local children to form two classes and employ two teachers.
A final point was made by Mr.Colmar, a retired businessman, that without Malupit Community School, there would be nowhere big enough for local clubs an organizations to hold their meetings. Mr.Pomat brought the meeting to a close shortly after 9 0’clock.

Choose the right statement !
1. Which of the following persons is a government official ? 
a. Mr Riley 
b. Mrs.Jarvis 
c. Mr.Kazarin
d. Mrs.Luvako
e. Mr.Pomat

2. The main discussion ot the meeting held by the Malupit community was about….
a. the plan of parents to move their children to a bigger school in Raval
b. the high cost of running the Malupit community school
c. the retirement of Mrs.Luvako from the Malupit community school
d. the employment of two more teachers for the Malupit community school
e. the opinions of the Malupit community on the closing of the Malupit community school
3. At the meeting, Mr. Kazarin stated that the local government would…
a. establish high-school for the children at Malupit in the future
b. not be able to consider the request of the Malupit community
c. support the Malupit community school with funds and teachers
d. provide free transport from Malupit to Raval for the children every morning
e. expand school in Raval to accommodate children from the Malupit community school
4. Why did the local government plan to close the Malupit community school ? 
a. there were only two teachers
b. the school was too expensive to run
c. the only teacher was going to retire
d. Malupit was only 6 miles from Raval
e. Malupit was too small a town for a school
5. Which of a following is True according to the text ? 
a. children of Malupit felt lost in their new school in Raval
b. the chairman of the meeting closed the meeting at 9 o’clock
c. Mr. Kazarin agrees not to close the Malupit community school
d. community meetings used to be held at the Malupit community school
e. it was believed that the number of children in Malupit would not increase

6. After reading the whole text, we may conclude that…
a. the meeting ended without any solution to the problem
b. parent objected to the addition of another class
c. the Malupit school had too many student
d. the Malupit school was not a good school
e. the Malupit school was in Raval

7.  Mrs. Jarvis, the mother of an … -year-old boy at Malupi, asked what would happen about transport to Raval. 
a. seven
b. eight
c. nine
d. ten
e. eleven
8. …expressed the fear of many parent that closing the local school would mean that the children of Malupit would not grow up with the same sense of community as in the past. The antonym of the word ‘same’ is….
a. similar
b. different
c. identical
d. even 
e. equal 

9….because it is expensive to run, and to move the children to two bigger schools in Raval, six miles away. The sinonym of the word ‘to run’ is….
a. to go
b. to manage
c. to come
d. to move
e. to get

10. This was considered too high a number for one class under one teacher; and too low a number for the forming of two classes and the employment of two teacher. The word ‘this’ refers to….
a. two classes 
b. chairman of the meeting 
c. one class 
d. fifty-three children 
e. twenty-two years

11. Which of the following statement is not true. 
a. there was good reason to believe that there would soon be more young children living in Malupit.
b. there would be nowhere big enough for local clubs an organizations to hold their meetings.
c. the Planning Office wished to take this opportunity to close the school, because it is cheap to run.
d. Mr. Kazarin pointed out that there were now only fifty-three children at Malupit Community School.
e. Mrs. Luvako, who had taught at the school for the past twenty-two years, would be retiring from the teaching service in July.

12. The Planning Office wished to take this opportunity to close the school, because it is expensive to run, and to move the children to two bigger schools in Raval, six miles away. The underlined word ‘wished’ means …. 
      
a. closed
b. opened
c. hoped
d. got
e. walked

13. It would be foolish, he said, to close the school, and then to find that there were more than enough local children to form two classes and employ two teachers. The underlined word means….
a. clever
b. stupid
c. smart
d. clean
e. good
Read the text 2 carefully !
	One evening last week my and I were sitting quietly at home. Suddenly we heard a loud bang. I supposed that the old lady in the flat above ours was moving the furniture about. My wife was afraid that the noise would wake the baby. She turned down the TV and moment latter we heard someone calling for help. 
I run upstairs. The old lady’s door was shut but I could see smoke coming through the letter box and under the door and smell something burning.” Ring the fire brigade .” I should down to my wife.
I banged on the door but the old lady took a long time answer. I was turning over in my mind the idea of breaking the door down when she finally appeared.
“I was having a bath,” she said,” when the water heater in the kitchen blew up. And I was getting dressed when you knocked.
I took her down stairs to our flat. Smoke was pouring out of the kitchen and the heater was in flames. Just then I heard a fire engine arriving outside and the heavy footsteps of the firemen on the stairs.” It’s in here,” I shouted,” You turned up promptly, I must say.”	When I got back to our flat, my wife was making the old lady a cup of tea, Soon afterwards, the fire chief came in to ask a few questions. It turned out that the fire was not very serious and the firemen were already putting it out. When they left, my wife went up with the old lady to help her clean up the mess.
When she returned, my wife remarked : “It’s all right now. Nothing was damaged except the water heater. But wasn’t it lucky that baby slept through the noise ?’She took the teacups into the kitchen and I heard her scream and the cups crash to the floor.   When I got there, water dripping from the ceiling and forming a pool on the floor. The baby woke up at least and began to cry.
Choose the right statement

1. What is the story about? 
a. a disastrous accident
b. a confused old lady
c. a fire brigade in action
d. a surprising evening
e. a small accident in the kitchen

2. The writer suspected that something was wrong when…
a. there was a loud noise
b. there was a cry for help
c. his wife was afraid of the noise
d.  furniture was being moved about
e. he saw smoke coming through his letter-box

3. Which of the following statement is true ? 
a. the old lady hurried to the door when yhe writer knocked
b. the noise in the old lady’s flat didn’t disturb the baby
c. the writer kicked the door open to save the old lady’s life
d. there was great damage in the flat ofter the fire
e. the old lady immediately called the fire brigade

4. ‘Turning over in my mind in paragraph 3 means…
a. chancing 
b. repeating 
c. reminding
d. considering 
e. supposing

5. After reading the whole story, we know that…
a. the old lady was good at house cleaning
b. the baby was startled by the some of the fire engine
c. the fire occurred because the old lady had been careless
d. the old lady always enjoyed having tea with the writer’s wife
e. the fire had caused a leak in the ceiling of the writer’s kitchen

6. Which of the following statement is not true ? 
a. the baby woke up a long while after the fire
b. the writer and his wife were at home watching TV that night
c. the fire engine didn’t arrive as quickly as the writer had thought
d. the writer’s wife was so startled that the cups fell from her hends
e. the writer’s wife didn’t expect to see a pool of water in her kitchen

7. When she returned, my wife remarked : “It’s all right now. The word ‘remarked’ means…. (C2)
a. went
b. came
c. answered
d. arrived
e. woke up

8. Which of the following statement is true ? 
a. I didn’t take her down stairs to our flat.
b. Suddenly we didn’t hear a loud bang.
c.  I didn’t suppose that the old lady in the flat above ours was moving the furniture about.
d. She didn’t take the teacups into the kitchen.
e. I heard her scream and the cups crash to the floor.

9. I banged on the door but the old lady took a long time answer . The word ‘I’ refers to…
a. baby  
b. the writer
c. lady  
d. chief   
e. firemen

10. She turned down the TV and moment latter we heard someone calling for help.
The antonym of the words ‘turned down’ means….
a. went down
b. turned up
c. came to
d. looked into
e. ran down

11. It turned out that the fire was not very serious and the firemen were already putting it out.The synonym of serious is …. ? 
a. cheerful
b. lighthearted
c. dangerous
d. trivial
e. superficial 

12. When they left, my wife went up with the old lady to help her clean up the mess. 
      The antonym of the word ‘old’ is …. 
a. big
b. small
c. tiny
d. young
e. good
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